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(1) BEERR
AR EERST 4,820,000 4,820,000 0 4,820,000
THMEE 2,450,000 2,450,000 2,450,000 4,900,000
SWEFTE 525,000 525,000 525,000 1,050,000
SR EF 500,000 500,000 500,000 1,000,000
SEINE 350,000 350,000 350,000 700,000
IR 0
REUNAEET 0 0 8,645,000 8,645,000 3,825,000 12,470,000
2)EEHR
2 X B 2,132,000 275,000 6,850,850 9,257,850 9,257,850
1% & H BN 864,000 864,000 864,000
HEEERANE 128,000 128,000 128,000
BHFL 2,465,000 2,465,000 2,465,000
IREHG T E A 0 0 0
EERAE 444,000 444,000 444,000
FEMR IR R 61,000 61,000 61,000
E55|4 0 0 0
Rk 79,000 79,000 79,000
WREXBE 327,000 20,000 431,000 778,000 778,000
BIEERE 28,000 95,000 123,000 123,000
BRENE 77,000 77,000 77,000
HERE 39,000 30,000 34,000 103,000 103,000
R &EAE 135,000 310,000 445,000 445,000
BiE-Es 120,000 210,000 330,000 330,000
FILINLEE 108,000 1,025,850 1,133,850 1,133,850
XBERFTE 186,000 10,000 210,000 406,000 406,000
e 710,000 65,000 775,000 775,000
XiLEiEE 0 156,000 156,000 156,000
X ILBIRE 378,000 150,000 528,000 528,000
HEE 50,000 50,000 50,000
LBERE 0 290,000 290,000 290,000
HHNERE 22,000 22,000 22,000
XLF R 0 0
5 H B 4,043,000 4,043,000
1% & M 1,296,000 1,296,000
EERAE 192,000 192,000
% ERBEIH 216,000 216,000
WREXBE 666,000 666,000
RAIELEE 80,000 80,000
TILIN(LEE 180,000 180,000
Rk 172,000 172,000
RS EWRE 314,000 314,000
BIEERE 33,000 33,000
HERE 164,000 164,000
AR 162,000 162,000
KEREH 60,000 60,000
BiggE 24,000 24,000
ST N 49,000 49,000
XERAE 20,000 20,000
EEM-LBE 317,000 317,000
X HLFECH 98,000 98,000
HE 0 0
BRERE 2,132,000 275,000 6,850,850 9,257,850 4,043,000 13,300,850
FHliE S R S R EIER A 2,132,000 A 275,000 1,794,150 A 612,850 A 218,000 A 830,850
AR EFFMmERSE
HEEETMERE
BERMA ST MERE
AFfi8 4 F 5T 0 0 0 0 0 0 0
LERE BRI A 2,132,000 A 275,000 1,794,150 A 612,850 A 218,000 0 A 830,850
2. BENIEROER
(1) #EESREE 0 0 0 0 0 0 0
BRI 0 0 0 0 0 0 0
(2)EENER 0 0 0 0 0 0 0
BEERAE 0 0 0 0 0 0 0
LEARRESMEREE 0 0 0 0 0 0 0
fth=stiREEE 0 0 0 0 0 0 0
L H— AR IE KB EE IR R KR A 2,132,000 A 275,000 1,794,150 A 612,850 A 218,000 0 A 830,850
BEEKRMEMN OIREEE 0
— R ERTESHERS 426,048,000 426,048,000 426,048,000
— R IEREFEHIRES A 2,132,000 A 275,000 427,842,150 425,435,150 A 218,000 0 425,217,150
. 457 1E BKBF 1B IR 0D &1
— R IEREAEANDIREEE 0 0 0 0 0 0 0
EEERHEHERS 0 0 0 0 0 0 0
EEERMESARES 0 0 0 0 0 0 0
. EREAEEIRES A 2,132,000 A 275,000 427,842,150 425,435,150 A 218,000 0 425,217,150




